R.rccn"‘use Vield

amount of pradvob adoa”j produced in o chemical reaction (mo‘ or 3)
&) this is oflen less than Jheoredical due fo ineficiencies in recovering  praduels or Side reatlions which reduee Pm)ud:‘
k? calcvlated l:y 3¢4¢(mim't:j mass of volome of Pmavcf.

ratio of adval and
theoretical )l.'elds. pcftmf'a‘je. Yield (%) = cxper;menl;al yie’d x 100 %
lacger valves = more ePPicieat theoretical yield

amount of prodvoe produced in o chemical reaction assuming the l:'mi{:'nd reoctant is completely vsed ovp. (mol or 3)
S caleolated s’foicl\iom’rrically USing the limi’tia\g reactant

§xampk, pmblems

@ 36 9 of Lin (v) Phosphal:e, 5"3 (Poq)q : reacts with 364 of sodivm carbonate Na.zCO_., $o make #in (IV) carbonate
ond Sodium phosphete . (£ 29-89 of tia (W) corbonate are acluelly formed, what is the perceat yield?

@ 153 of sodivm sulfate, Na, SO0y , reacts with cxcess icon (IIN) phosphate, Fe POy , produting @ 65.0 % yield.
How many groms of Sodium phosphate will acloally be made?

Wwhat mass of silver could be formed i€ o lacge zinc wire is placed in o beuker conteining 5.0 mL  of 0.095 moldm™
Silver nitrate , AqNO;, | and allowed fo react overnight? Reaction has 7% yield.



pcrccn"'uae Porit y

Some  samples of campounds are composcc) of o mixtue of J;flerent sobsiances .

mass of the compound of interest (3)

—  mass of pure compound in sample x 100 %
total mass of Sample

mass of fhe mixture intotal (g)

€ xample problcms

@ A lZ.003 sample of a crystallised phamecwl:v‘ca( product cas found fo contain I1.57q of the active drug.
Calculade = the Fcrcmhae pwity of fhe sample of the drua.

@ 15.0g of 92.5% magnesivm hydroxide , Mq(OH), , is reacked Lith excess Hy POy fo produce waler and magnesium phosphale.
Caleviate the mass of P‘|33(PO.,)z that will be formed (aswmind a 100% yield).

Auvlomotive air bogs inflate when 9lid Sodivm ozide , NaN; , decomposes explosively into sodivm and nilrogen gas.
What volvme of m”noam gas is formed ;f lZOJ of 85% pure sodiom azide Jdeomposes, Assume STP conditions.



